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1) The distance between a carbon atom (m = 12u) and
in oxygen atom (m = 16u) in the CO molecule is
.13 X 10 m. How far from the carbon atom, is the
>enter of mass of the molecule?
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). (I) Find the center of mass of the three-mass system shown
in Fig. 7-37 relative to the 1.00-kg mass.
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5,)(I) The masses of the Earth and Moon are 5.98 X 10** kg
and 7.35 X 10?% kg, respectively, and their centers are sepa-
rated by 3.84 X 10°m. (a) Where is the cM of the Earth—-Moon
system located? (b) What can you say about the motion of
the Earth—Moon system about the Sun, and of the Earth and
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